One standard location for a pair of electrodes during an EKG is shown in the figure  (Intro 1 figure)  . The potential difference 
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For each of the three instants a, b, and c during the heart’s cycle shown in the figure A  (Part A figure)  , will [image: image3.png]AV



be positive or negative? Explain.
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 square aluminum electrodes, spaced 0.60 [image: image7.png]


 apart are connected to a 400 [image: image8.png]


 battery.

What is the capacitance in picofarads? 

What is the charge on the positive electrode in Coulombs?

A pair of 10 [image: image9.png]pF



capacitors in a high-power laser are charged to 1.7 [image: image10.png]kV



.

What charge is stored in each capacitor?

How much energy is stored in each capacitor?
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